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3360000 |Yannnpw)p
33661124  |Uuwpht Ywpnhn 100 dg  N20 t<  |hwp 68.5 |68500 (1000
33631310 | Hhlyin$ttwl 75Uq /3U| N°5 o wdy 164.2  |24630 [150
33631310 | “Hhyindluwly 50dg N20 C< |hwp 20.55 8220 400
33631291 [ppnuypnptl 400uq N10 o< |hwp 51 30600 [600
33661122 |hpnuypn$bi opwpuwly 100dg/54) 1004; C< |hwin 1300 78000 (60
33661153 [Hopuwidtpuignt 4dqg 1d] N25 G wdy 155 4650 30
3360000  [Unuypwuwnhu 10dg N20 < |hwp 70 28000 [400
33691144 | Lwnphnuwih phnung$uwin 30 % 5UIN10 < wdy 47 2350 50
33691145 |Uwqubghnuh unybuwn 25% SUp N10 G |wdy 42 2100 50
33651111 [Udopuhghjhl 500 dg N16 G<  |hwp 52 10400  |200
33651111 |Udopuhghiht 250 dq/ 1004y o< [hwwn 1600 (48000 |30
33651118 |StDwphwpuhnu 1q L [plulnt 300 18000 |60
33651118 [8b$uphwpupnt 0.5 S |pulynt 250 20000 |80
33691112 [Ukwinpnuhnuigny 0.5% 100 ) C< [hun 320 6400 20
33651150 byniynuwgng 50 dg N10 GL hwp 133 2660 20
3360000 |ynilynuwgny 150dg < |huwp 62 1240 20
33621110 |dwpbwphu 5ug N100 < Jhup 41 8200 200
33621690 |Ywpuhnhing 6.25uq N40 < |hup 20 50000 [2500
33621360 |Uhunpngihghphu 0.0005g N40 o< |hup 7 5600 (800
33621380 |thgnpuhu 0.25 UgN50 C< |hwp 8.3 12450  [1500
33621450 |Udjnnhuht 5dg N30 < |hwp 19.5 29250 (1500
33621520 [Euwqwuyppy 10ug N20 o< |hup 6 7200|1200
33621750 |Lh$hnhwhl 10 dg N30 &< |hwp 20 12000  |600
33621710  [Uwnblnng 50 dg N30 C< |hwp 4.6 1840 403
33621590 [$nipnubidhn 40dg N50 C< |hwp 4 2400 600
33621140 | Mywhpu 75dg N L |hwp 200 300000 (1500
33621410 [Upddwuwnwinpu 20ug N30 G< |hwp 103 154500 |1500
33621230 (3nn 5% 304 G< [huwn 150 1500 10
33611100 [Oubwpwigny 20 dg N10 C< |hwp 15 22500 (1500
33611200 |Lnujtpuwidpn 20g N10 o< |hup 44 4400 100
33671113 |Uwjpnunwdng gnnuwghp 104] < |hwwn 1300  |13000 |10
33671113 |Uwpnunwidng 2dg N30 G< |hwp 15 22500 [1500
33691129 |MHhugtiph /@ 2504 t<  |hwwn 320 6400 |20
33691136 |Lwwphnuih pinphn 0.9% 200 4 o< |hwn 320  [12800 |40
33691129 |Nshhnpnt unjnigl 18,9gp C< |hwn 310 6200 20
33611500 |Enibhihu 0.13g N30 C< |[hwp 5 5000 1000




33611500 |Eniphihu 2.4 % Sd| N1O o< |wiy 56 2800 |50
36316000 |Uwhpwn 96% 100 u; C< |hwwn 200 4000 20
33600000 |4wpnhndwqupy 75 dg N30 L |hwp 25 37500 (1500
33620000 [Mpbmniunw UMy 350 dg N30 t< |hup 130 156000 [1200
33671136 |Fnlyinnp dnd opwpwl 100 4 < |hww 1870 74800 |40
3360000 |4nuynp 5 dg N50 C< |hwp 70 70000 [1000
33642230 |L-phpnpuht 100dg G |hwp 20 16000 (800
3360000 | Mnynpnnpnt 4dg G< |hwp 80 56000 |700
3360000 |Lwghyht 0.05% C< |hwwn 900 18000 (20
3360000 |Lwghuht 0.025% G |hwn 900 18000 (20
3360000 | Hhpbpwiht Juwijbphuwtiw L |hwwn 400 8000 20
3360000 |Epuinpwln Ywibphwiw < |hwwn 150 3000 20
3360000 |[Ppnuhtpuh 4dq < |hwp e 1600 400
3360000 | Mwpwgbuwdnih dndhly 100dg. G< |hwwn 40 6000 150
33611360 | runjbljw gh$tpng Yhunwdhu 13 C< |hwwn 2000 |80000 (40
33621100 _|<buwwppt 50004h/50 o< |upquy |5 75 15
33621100 | <bwwphuh pundy 25q G< [hun 600 9000 15
3360000 [Udppnpuny 15dq/541,1004; ¢< |hwn 8 240 30
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33141117 [Pwpwly 50q C< |hwuwn 150 3000 20
33141142 [Lbpwnlhg 5q C< |[hwwn 15 3000 200
33661220 |Cwwink C< [hwwn 45 18000 (400
33121180 |Snundkup Unynunnp Yuuuply  [T< [hwn 3300 (6600 2
33141159  |Qtnungutp < [hwn 35 10500  [300
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31651200 |kyg dwwjwytl 30x60 G< [hwwn 710 10650 15
33141143 |Ulwph$hlwann t< |hwm 8 20000 [2500
33211120 [wlnigkly whinhy pbuntp t<  |humn 140 140000 [1000
33211120 [wlnushly phiuwntp PERFORMA G [hwwn 150 90000 [6CD




